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We heat an oven

f Ct ) -

- The temperature of the oven (F) at time t Cmint

gftt The rate of increase of temperature of the oven Chin) at time t (mint

tea;
-

- IGHT get -

. t 't

✓
what is the average temperature of the oven

from 20 min to 30 min ? ( include units in the answer )

30

feldt of
20 -

What is the average rate of change of the

Temperature of the oven from 20 to 30 minutes ( include unit ,

there are two differ en  correct ways of writing the answer )

rate of change of temperature is in units of °F/min

and is represented by the function g ft )

30

⇒zogctldt offmin
We

can also write the
average rate of change

of the temperature of the oven from 20 to 30 min

using Htt instead of g Ctl

t Go) - f Go ) ofThe
average rate The

average
rate = ¥ ↳of change of = of change of

temp of oven t



rate of change of temperature is in units of °F/min

and is represented by the function g ft )

30

⇒zogctldt offmin
We

can also write the
average rate of change

of the temperature of the oven from 20 to 30 min

using Htt instead of g Ctl

t Go) - f Go ) ofThe
average rate

=

The
average

rate = ¥ ↳of change of of change of

temp of oven t

Both of these must give the same answer

too ! ! gcttdt =

ten-foot
36 - 2 O

I ! gcttdt -

- t Got- fed fundamental Theorem of

calculus I )

The average value  of t over an interval [ 9
,

b ] is b.at/abfCx1dx
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f CX ) = 7 what is the average
value ott

over [ 0,100]
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chapter 7
,

sections 7.1-75 (material for

midterm 3)

7. I -7.5 covers technique,
for integration

The fundamental theorem of calculus I C.3)
Integration by substion Git)

Integration by Parts G.D

Technique,
for  integrating trig function,

(7. 2)

Integration using trigonometric substitution G. 3)

Integration using partial fraction , ( 7.4)

Review of all the technique , 7.1-74 ( 75 )



Section 7.1 : Integration by Portion
,

Integration by parts come ,
from the product rate

for differentiation

÷ fcxlgcxl -

- tcxlgcxltfcxlg 'M

Itcxlgcxldx = ?

Assume f is differentiable
,

and assume GG ) is

an anti derivative of g Cx)
,

G
'

( X ) -

-

g Cx)
.

# t Gcxkftxvdxlt tCxg%g

Ifttxlccxltffxlgcxlldx= text 6 Cx ) t c
Tf

HEH Gcxldxtftcxlgcxldx
-

- HH Gcxltc

gxlN=fCHFxl-StExGcxT#
Integration by parts

Integration by part,

using the table method

t.FI#TfTTxTgcxldx--ytAIscxy-StExsocxux



)fCxlgCxldx=fCxl6Cxl-StExGCxld
Integration by parts

Integration by part,

using the

tablemethodyt.fi#I;*TfStCxlgcxldx-hYxytAI
- Stas Galax

-
-

IX cos x DX

÷I¥÷xhdx-#x
sin x - fsinxdx

= X sing
- f cos x ) to

= XsinxtcosX
check our answer : ¥ ( x sin x t cos X ) =

= xt

'

x cos X - -
-

Xcosxditf
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